## CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BUTLER ELEMENTARY SCHOOL AFTER SCHOOL TUTORING ACTIVITIES FOR THE 2021-22 SCHOOL YEAR ONLY, \$32.26 PER HOUR (21-22): (10-1250-0000-1341-497-1)

Hardy, Constance

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL AFTER SCHOOL TUTORING ACTIVITIES FOR THE 2021-22 SCHOOL YEAR ONLY, \$32.26 PER HOUR (21-22): (10-1250-0000-1341-497-1)

> Powell, Donna Tiemann, Joseph

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL AFTER SCHOOL TUTORING ACTIVITIES FOR THE 2021-22 SCHOOL YEAR ONLY, \$32.26 PER HOUR (21-22): (10-1250-0000-1341-497-1)

> Haggard, James Tracy, James

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BLACK HAWK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES JANUARY 16, 2022, \$32.26 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$80.65 EACH: (10-2210-0000-1341-531-2)

Gulle, Samuel

Herman, Katherine

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES JANUARY 12, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-531-2)

> Baldin, Jennifer Brillhart, Sarah Kahl, Lindsay

Moore, Lori Punke, Lindsay VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES 2021-2022 MEDICAID BILLING ACTIVITIES DECEMBER 1, 2021 THROUGH JANUARY 12, 2022, FOR RATE SPECIFIED : (10-2210-6220-1342-000-0)

Brown, Mary   1.00 hours   \$66.17 per hour   66.17     Clark, Abigail   3.00 hours   \$43.57 per hour   130.71     Corley, Elizabeth   3.50 hours   \$55.10 per hour   192.85     Deatherage, Debra   4.50 hours   \$57.69 per hour   259.61     Dunn, Cara   4.00 hours   \$41.00 per hour   164.00     Farley, Nicole   5.00 hours   \$44.84 per hour   224.20     Febus, Ashley   2.50 hours   \$57.66 per hour   144.15     Fenstermacher, Lori   3.00 hours   \$67.14 per hour   201.42     Foster, Jennifer   3.00 hours   \$63.27 per hour   316.35     Groesch, Erica   0.75 hours   \$67.14 per hour   201.42     Hummel, Emily   4.00 hours   \$51.25 per hour   21.45     Hummel, Kamira   3.00 hours   \$51.25 per hour   230.64     Hussein, Samira   3.00 hours   \$53.81 per hour   376.67     Kim, Whitney   4.00 hours   \$68.11 per hour   272.44     Lanter, Lindsey   3.50 hours   \$47.40 per hour   165.90	Brinkmann, Kristen	5.00 hours	\$53.81 per hour	\$269.05
Corley, Elizabeth $3.50$ hours $$55.10$ per hour $192.85$ Deatherage, Debra $4.50$ hours $$57.69$ per hour $259.61$ Dunn, Cara $4.00$ hours $$41.00$ per hour $164.00$ Farley, Nicole $5.00$ hours $$44.84$ per hour $224.20$ Febus, Ashley $2.50$ hours $$57.66$ per hour $144.15$ Fenstermacher, Lori $3.00$ hours $$67.14$ per hour $201.42$ Foster, Jennifer $3.00$ hours $$63.27$ per hour $146.07$ Giacomini-Fay, Lisa $5.00$ hours $$63.27$ per hour $21.42$ Foster, Jenrifer $3.50$ hours $$67.14$ per hour $50.36$ Gruenenfelder, Tara $3.50$ hours $$63.27$ per hour $221.45$ Hummel, Emily $4.00$ hours $$57.66$ per hour $230.64$ Hussein, Samira $3.00$ hours $$51.25$ per hour $153.75$ Jaderholm, Annette $6.00$ hours $$68.11$ per hour $408.66$ Katalinich, Madeline $3.00$ hours $$53.81$ per hour $111.48$ Kaufmann, Sarah $7.00$ hours $$53.81$ per hour $165.90$ Locher, Debra $4.50$ hours $$66.17$ per hour $165.90$ Locher, Debra $4.50$ hours $$56.37$ per hour $136.35$ Moore, Carolyn $3.00$ hours $$58.94$ per hour $353.64$ Naumovich, Amanda $4.00$ hours $$56.37$ per hour $134.52$ Parker, Grayce $3.00$ hours $$37.16$ per hour $134.52$ Parker, Grayce $3.00$ hours $$56.37$ per hour $136.39$ <	Brown, Mary	1.00 hours	\$66.17 per hour	66.17
Deatherage, Debra4.50 hours $\$57.69$ per hour $259.61$ Dunn, Cara4.00 hours $\$41.00$ per hour $164.00$ Farley, Nicole5.00 hours $\$44.84$ per hour $224.20$ Febus, Ashley2.50 hours $\$57.66$ per hour $144.15$ Fenstermacher, Lori3.00 hours $\$67.14$ per hour $201.42$ Foster, Jennifer3.00 hours $\$63.27$ per hour $146.07$ Giacomini-Fay, Lisa5.00 hours $\$63.27$ per hour $201.42$ Foresch, Erica0.75 hours $\$67.14$ per hour $50.36$ Gruenenfelder, Tara3.50 hours $\$63.27$ per hour $221.45$ Hummel, Emily4.00 hours $\$57.66$ per hour $230.64$ Hussein, Samira3.00 hours $\$51.25$ per hour $153.75$ Jaderholm, Annette6.00 hours $\$68.11$ per hour $408.66$ Katalinich, Madeline3.00 hours $\$37.16$ per hour $111.48$ Kaufmann, Sarah7.00 hours $\$68.11$ per hour $272.44$ Lanter, Lindsey3.50 hours $\$47.40$ per hour $165.90$ Locher, Debra4.50 hours $\$66.17$ per hour $169.11$ Moore, Carolyn3.00 hours $\$56.37$ per hour $136.35$ Mouro, Carolyn3.00 hours $\$58.94$ per hour $235.76$ Ohl, Stephanie3.00 hours $\$56.37$ per hour $138.39$ Rehn, Megan3.00 hours $\$56.37$ per hour $138.39$ Rehn, Megan3.00 hours $\$56.37$ per hour $136.35$ Ohours $\$56.37$ per hour <td>Clark, Abigail</td> <td>3.00 hours</td> <td>\$43.57 per hour</td> <td>130.71</td>	Clark, Abigail	3.00 hours	\$43.57 per hour	130.71
Dunn, Cara $4.00$ hours $\$41.00$ per hour $164.00$ Farley, Nicole $5.00$ hours $\$44.84$ per hour $224.20$ Febus, Ashley $2.50$ hours $\$57.66$ per hour $144.15$ Fenstermacher, Lori $3.00$ hours $\$67.14$ per hour $201.42$ Foster, Jennifer $3.00$ hours $\$63.27$ per hour $316.35$ Groesch, Erica $0.75$ hours $\$67.14$ per hour $201.42$ Formenfelder, Tara $3.50$ hours $\$63.27$ per hour $21.45$ Hummel, Emily $4.00$ hours $\$57.66$ per hour $230.64$ Hussein, Samira $3.00$ hours $\$51.25$ per hour $153.75$ Jaderholm, Annette $6.00$ hours $\$68.11$ per hour $408.66$ Katalinich, Madeline $3.00$ hours $\$37.16$ per hour $111.48$ Kaufmann, Sarah $7.00$ hours $\$53.81$ per hour $165.90$ Locher, Debra $4.50$ hours $\$68.11$ per hour $272.44$ Lanter, Lindsey $3.50$ hours $\$47.40$ per hour $165.90$ Locher, Debra $4.50$ hours $\$66.17$ per hour $363.94$ Moore, Carolyn $3.00$ hours $\$56.37$ per hour $165.04$ Medaniel-Norton, Stacey $5.50$ hours $\$66.17$ per hour $335.64$ Naumovich, Amanda $4.00$ hours $\$56.37$ per hour $353.64$ Naumovich, Amanda $4.00$ hours $\$56.37$ per hour $134.52$ Parker, Grayce $3.00$ hours $\$56.37$ per hour $135.96$ Naumovich, Amanda $4.00$ hours $\$56.37$ per hour $136.3$	Corley, Elizabeth	3.50 hours	\$55.10 per hour	192.85
Farley, Nicole5.00 hours\$44.84 per hour $224.20$ Febus, Ashley2.50 hours\$57.66 per hour144.15Fenstermacher, Lori3.00 hours\$67.14 per hour201.42Foster, Jennifer3.00 hours\$63.27 per hour316.35Groesch, Erica0.75 hours\$67.14 per hour50.36Gruenenfelder, Tara3.50 hours\$63.27 per hour221.45Hummel, Emily4.00 hours\$57.66 per hour230.64Hussein, Samira3.00 hours\$51.25 per hour153.75Jaderholm, Annette6.00 hours\$68.11 per hour408.66Katalinich, Madeline3.00 hours\$53.81 per hour272.44Lanter, Lindsey3.50 hours\$66.11 per hour272.44Lanter, Lindsey3.50 hours\$66.11 per hour272.44Lanter, Lindsey3.50 hours\$66.17 per hour366.50Marcum, Stacie3.25 hours\$66.17 per hour363.94Moore, Carolyn3.00 hours\$58.94 per hour353.64Naumovich, Amanda4.00 hours\$58.94 per hour353.64Naumovich, Amanda4.00 hours\$56.37 per hour169.11Moven, Lindsay6.00 hours\$66.13 per hour353.64Naumovich, Amanda4.00 hours\$56.37 per hour353.64Naumovich, Amanda4.00 hours\$56.37 per hour353.64Naumovich, Amanda4.00 hours\$66.77 per hour363.94Noore, Carolyn3.00 hours\$56.37 per hour353.64Naumovich	Deatherage, Debra	4.50 hours	\$57.69 per hour	259.61
Febus, Ashley2.50 hours\$57.66 per hour $144.15$ Fenstermacher, Lori3.00 hours\$67.14 per hour $201.42$ Foster, Jennifer3.00 hours\$48.69 per hour $146.07$ Giacomini-Fay, Lisa5.00 hours\$63.27 per hour $316.35$ Groesch, Erica0.75 hours\$67.14 per hour $50.36$ Gruenenfelder, Tara3.50 hours\$63.27 per hour $221.45$ Hummel, Emily4.00 hours\$57.66 per hour $230.64$ Hussein, Samira3.00 hours\$51.25 per hour $153.75$ Jaderholm, Annette6.00 hours\$68.11 per hour $408.66$ Katalinich, Madeline3.00 hours\$37.16 per hour $111.48$ Kaufmann, Sarah7.00 hours\$53.81 per hour $272.44$ Lanter, Lindsey3.50 hours\$47.40 per hour $165.90$ Locher, Debra4.50 hours\$68.11 per hour $306.50$ Marcum, Stacie3.25 hours\$50.78 per hour $165.04$ Mcdaniel-Norton, Stacey5.50 hours\$66.17 per hour $333.64$ Naumovich, Amanda4.00 hours\$58.94 per hour $335.64$ Naumovich, Amanda4.00 hours\$56.37 per hour $134.52$ Parker, Grayce3.00 hours\$56.37 per hour $134.52$ Parker, Grayce3.00 hours\$56.37 per hour $138.39$ Rehn, Megan3.00 hours\$56.37 per hour $134.52$ Parker, Grayce3.00 hours\$56.37 per hour $197.30$ Roe, Katie4.00 hours\$50.20 per hour<	Dunn, Cara	4.00 hours	\$41.00 per hour	164.00
Fenstermacher, Lori $3.00$ hours $\$67.14$ per hour $201.42$ Foster, Jennifer $3.00$ hours $\$48.69$ per hour $146.07$ Giacomini-Fay, Lisa $5.00$ hours $\$63.27$ per hour $316.35$ Groesch, Erica $0.75$ hours $\$67.14$ per hour $50.36$ Gruenenfelder, Tara $3.50$ hours $\$63.27$ per hour $221.45$ Hummel, Emily $4.00$ hours $\$57.66$ per hour $230.64$ Hussein, Samira $3.00$ hours $\$51.25$ per hour $153.75$ Jaderholm, Annette $6.00$ hours $\$68.11$ per hour $408.66$ Katalinich, Madeline $3.00$ hours $\$37.16$ per hour $272.44$ Lanter, Lindsey $3.50$ hours $\$68.11$ per hour $272.44$ Lanter, Lindsey $3.50$ hours $\$68.11$ per hour $272.44$ Lanter, Lindsey $3.50$ hours $\$68.11$ per hour $265.00$ Macum, Stacie $3.25$ hours $\$50.78$ per hour $165.04$ Mcdaniel-Norton, Stacey $5.50$ hours $\$66.17$ per hour $235.64$ Maumovich, Amanda $4.00$ hours $\$58.94$ per hour $235.76$ Ohl, Stephanie $3.00$ hours $\$58.94$ per hour $235.76$ Ohl, Stephanie $3.00$ hours $\$7.16$ per hour $134.52$ Parker, Grayce $3.00$ hours $\$7.16$ per hour $134.52$ Parker, Grayce $3.00$ hours $\$56.37$ per hour $134.52$ Parker, Grayce $3.00$ hours $\$7.16$ per hour $134.52$ Parker, Grayce $3.00$ hours $\$7.16$ per hour $13$	Farley, Nicole	5.00 hours	\$44.84 per hour	224.20
Foster, Jennifer $3.00$ hours $\$48.69$ per hour $146.07$ Giacomini-Fay, Lisa $5.00$ hours $\$63.27$ per hour $316.35$ Groesch, Erica $0.75$ hours $\$67.14$ per hour $50.36$ Gruenenfelder, Tara $3.50$ hours $\$63.27$ per hour $221.45$ Hummel, Emily $4.00$ hours $\$57.66$ per hour $230.64$ Hussein, Samira $3.00$ hours $\$51.25$ per hour $153.75$ Jaderholm, Annette $6.00$ hours $\$68.11$ per hour $408.66$ Katalinich, Madeline $3.00$ hours $\$37.16$ per hour $111.48$ Kaufmann, Sarah $7.00$ hours $\$53.81$ per hour $376.67$ Kim, Whitney $4.00$ hours $\$68.11$ per hour $272.44$ Lanter, Lindsey $3.50$ hours $\$47.40$ per hour $165.90$ Locher, Debra $4.50$ hours $\$66.17$ per hour $363.94$ Moore, Carolyn $3.00$ hours $\$56.37$ per hour $169.11$ Mowen, Lindsay $6.00$ hours $\$58.94$ per hour $353.64$ Naumovich, Amanda $4.00$ hours $\$56.37$ per hour $134.52$ Parker, Grayce $3.00$ hours $\$37.16$ per hour $134.52$ Parker, Grayce $3.00$ hours $\$37.16$ per hour $134.52$ Parker, Grayce $3.00$ hours $\$56.37$ per hour $138.39$ <td>Febus, Ashley</td> <td>2.50 hours</td> <td>\$57.66 per hour</td> <td>144.15</td>	Febus, Ashley	2.50 hours	\$57.66 per hour	144.15
Giacomini-Fay, Lisa $5.00$ hours $\$63.27$ per hour $316.35$ Groesch, Erica $0.75$ hours $\$67.14$ per hour $50.36$ Gruenenfelder, Tara $3.50$ hours $\$63.27$ per hour $221.45$ Hummel, Emily $4.00$ hours $\$57.66$ per hour $230.64$ Hussein, Samira $3.00$ hours $\$51.25$ per hour $153.75$ Jaderholm, Annette $6.00$ hours $\$68.11$ per hour $408.66$ Katalinich, Madeline $3.00$ hours $\$37.16$ per hour $111.48$ Kaufmann, Sarah $7.00$ hours $\$53.81$ per hour $376.67$ Kim, Whitney $4.00$ hours $\$68.11$ per hour $272.44$ Lanter, Lindsey $3.50$ hours $\$47.40$ per hour $165.90$ Locher, Debra $4.50$ hours $\$66.17$ per hour $363.94$ Moore, Carolyn $3.00$ hours $\$56.37$ per hour $165.04$ Mowen, Lindsay $6.00$ hours $\$58.94$ per hour $353.64$ Naumovich, Amanda $4.00$ hours $\$56.37$ per hour $134.52$ Parker, Grayce $3.00$ hours $\$44.84$ per hour $134.52$ Parker, Grayce $3.00$ hours $\$46.13$ per hour $138.39$ Rehn, Megan $3.00$ hours $\$56.37$ per hour $197.30$ Roe, Katie $4.00$ hours $\$60.20$ per hour $240.80$ Rouland, Jill $4.00$ hours $\$50.20$ per hour $240.80$ Ruholl, Renee $3.00$ hours $\$38.44$ per hour $115.32$ Upchurch, Taylor $4.00$ hours $\$9.97$ per hour $199.88$	Fenstermacher, Lori	3.00 hours	\$67.14 per hour	201.42
Groesch, Erica   0.75 hours   \$67.14 per hour   50.36     Gruenenfelder, Tara   3.50 hours   \$63.27 per hour   221.45     Hummel, Emily   4.00 hours   \$57.66 per hour   230.64     Hussein, Samira   3.00 hours   \$51.25 per hour   153.75     Jaderholm, Annette   6.00 hours   \$68.11 per hour   408.66     Katalinich, Madeline   3.00 hours   \$37.16 per hour   111.48     Kaufmann, Sarah   7.00 hours   \$53.81 per hour   376.67     Kim, Whitney   4.00 hours   \$68.11 per hour   272.44     Lanter, Lindsey   3.50 hours   \$47.40 per hour   165.90     Locher, Debra   4.50 hours   \$68.11 per hour   306.50     Marcum, Stacie   3.25 hours   \$50.78 per hour   165.04     Mcdaniel-Norton, Stacey   5.50 hours   \$66.17 per hour   353.64     Naumovich, Amanda   4.00 hours   \$58.94 per hour   353.64     Naumovich, Amanda   4.00 hours   \$58.94 per hour   353.64     Naumovich, Amanda   3.00 hours   \$44.84 per hour	Foster, Jennifer	3.00 hours	\$48.69 per hour	146.07
Gruenenfelder, Tara $3.50$ hours $$63.27$ per hour $221.45$ Hummel, Emily $4.00$ hours $$57.66$ per hour $230.64$ Hussein, Samira $3.00$ hours $$51.25$ per hour $153.75$ Jaderholm, Annette $6.00$ hours $$68.11$ per hour $408.66$ Katalinich, Madeline $3.00$ hours $$37.16$ per hour $111.48$ Kaufmann, Sarah $7.00$ hours $$53.81$ per hour $376.67$ Kim, Whitney $4.00$ hours $$68.11$ per hour $272.44$ Lanter, Lindsey $3.50$ hours $$47.40$ per hour $165.90$ Locher, Debra $4.50$ hours $$68.11$ per hour $306.50$ Marcum, Stacie $3.25$ hours $$50.78$ per hour $165.04$ Mcdaniel-Norton, Stacey $5.50$ hours $$66.17$ per hour $169.11$ Mowen, Lindsay $6.00$ hours $$58.94$ per hour $353.64$ Naumovich, Amanda $4.00$ hours $$58.94$ per hour $134.52$ Parker, Grayce $3.00$ hours $$44.84$ per hour $134.52$ Parker, Grayce $3.00$ hours $$56.37$ per hour $197.30$ Roe, Katie $4.00$ hours $$50.20$ per hour $240.80$ Rouland, Jill $4.00$ hours $$38.44$ per hour $20.80$ Ruholl, Renee $3.00$ hours $$38.44$ per hour $115.32$ Upchurch, Taylor $4.00$ hours $$49.97$ per hour $199.88$	Giacomini-Fay, Lisa	5.00 hours	\$63.27 per hour	316.35
Hummel, Emily $4.00$ hours $\$57.66$ per hour $230.64$ Hussein, Samira $3.00$ hours $\$51.25$ per hour $153.75$ Jaderholm, Annette $6.00$ hours $\$68.11$ per hour $408.66$ Katalinich, Madeline $3.00$ hours $\$37.16$ per hour $111.48$ Kaufmann, Sarah $7.00$ hours $\$37.16$ per hour $111.48$ Kaufmann, Sarah $7.00$ hours $\$53.81$ per hour $376.67$ Kim, Whitney $4.00$ hours $\$68.11$ per hour $272.44$ Lanter, Lindsey $3.50$ hours $\$47.40$ per hour $165.90$ Locher, Debra $4.50$ hours $\$68.11$ per hour $306.50$ Marcum, Stacie $3.25$ hours $\$50.78$ per hour $165.04$ Mcdaniel-Norton, Stacey $5.50$ hours $\$66.17$ per hour $169.11$ Mowen, Lindsay $6.00$ hours $\$58.94$ per hour $353.64$ Naumovich, Amanda $4.00$ hours $\$58.94$ per hour $134.52$ Parker, Grayce $3.00$ hours $\$46.13$ per hour $134.52$ Parker, Grayce $3.00$ hours $\$37.16$ per hour $138.39$ Rehn, Megan $3.00$ hours $\$56.37$ per hour $197.30$ Roe, Katie $4.00$ hours $\$50.20$ per hour $240.80$ Rouland, Jill $4.00$ hours $\$38.44$ per hour $115.32$ Upchurch, Taylor $4.00$ hours $\$38.44$ per hour $199.88$	Groesch, Erica	0.75 hours	\$67.14 per hour	50.36
Hussein, Samira3.00 hours\$51.25 per hour153.75Jaderholm, Annette6.00 hours\$68.11 per hour408.66Katalinich, Madeline3.00 hours\$37.16 per hour111.48Kaufmann, Sarah7.00 hours\$53.81 per hour376.67Kim, Whitney4.00 hours\$68.11 per hour272.44Lanter, Lindsey3.50 hours\$47.40 per hour165.90Locher, Debra4.50 hours\$68.11 per hour306.50Marcum, Stacie3.25 hours\$50.78 per hour165.04Mcdaniel-Norton, Stacey5.50 hours\$66.17 per hour363.94Moore, Carolyn3.00 hours\$58.94 per hour353.64Naumovich, Amanda4.00 hours\$58.94 per hour134.52Parker, Grayce3.00 hours\$44.84 per hour138.39Rehn, Megan3.00 hours\$56.37 per hour197.30Roe, Katie4.00 hours\$50.20 per hour240.80Rouland, Jill4.00 hours\$50.20 per hour240.80Ruholl, Renee3.00 hours\$38.44 per hour115.32Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Gruenenfelder, Tara	3.50 hours	\$63.27 per hour	221.45
Jaderholm, Annette 6.00 hours \$68.11 per hour 408.66   Katalinich, Madeline 3.00 hours \$37.16 per hour 111.48   Kaufmann, Sarah 7.00 hours \$53.81 per hour 376.67   Kim, Whitney 4.00 hours \$68.11 per hour 272.44   Lanter, Lindsey 3.50 hours \$47.40 per hour 165.90   Locher, Debra 4.50 hours \$66.11 per hour 306.50   Marcum, Stacie 3.25 hours \$50.78 per hour 165.04   Mcdaniel-Norton, Stacey 5.50 hours \$66.17 per hour 363.94   Moore, Carolyn 3.00 hours \$56.37 per hour 169.11   Mowen, Lindsay 6.00 hours \$58.94 per hour 353.64   Naumovich, Amanda 4.00 hours \$58.94 per hour 134.52   Parker, Grayce 3.00 hours \$46.13 per hour 138.39   Rehn, Megan 3.00 hours \$56.37 per hour 111.48   Reitz, Laura 3.50 hours \$46.13 per hour 134.52   Parker, Grayce 3.00 hours \$56.37 per hour 197.30   Roe, Katie 4.00 hours \$50.20 per hour	Hummel, Emily	4.00 hours	\$57.66 per hour	230.64
Katalinich, Madeline3.00 hours\$37.16 per hour111.48Kaufmann, Sarah7.00 hours\$53.81 per hour376.67Kim, Whitney4.00 hours\$68.11 per hour272.44Lanter, Lindsey3.50 hours\$47.40 per hour165.90Locher, Debra4.50 hours\$68.11 per hour306.50Marcum, Stacie3.25 hours\$50.78 per hour165.04Mcdaniel-Norton, Stacey5.50 hours\$66.17 per hour363.94Moore, Carolyn3.00 hours\$56.37 per hour169.11Mowen, Lindsay6.00 hours\$58.94 per hour353.64Naumovich, Amanda4.00 hours\$58.94 per hour134.52Parker, Grayce3.00 hours\$44.84 per hour134.52Parker, Grayce3.00 hours\$66.37 per hour111.48Reitz, Laura3.00 hours\$56.37 per hour197.30Roe, Katie4.00 hours\$56.37 per hour138.39Rouland, Jill4.00 hours\$50.20 per hour240.80Ruholl, Renee3.00 hours\$38.44 per hour195.32Upchurch, Taylor4.00 hours\$39.77 per hour199.88	Hussein, Samira	3.00 hours	\$51.25 per hour	153.75
Kaufmann, Sarah7.00 hours\$53.81 per hour376.67Kim, Whitney4.00 hours\$68.11 per hour272.44Lanter, Lindsey3.50 hours\$47.40 per hour165.90Locher, Debra4.50 hours\$68.11 per hour306.50Marcum, Stacie3.25 hours\$50.78 per hour165.04Mcdaniel-Norton, Stacey5.50 hours\$66.17 per hour363.94Moore, Carolyn3.00 hours\$56.37 per hour169.11Mowen, Lindsay6.00 hours\$58.94 per hour353.64Naumovich, Amanda4.00 hours\$58.94 per hour134.52Parker, Grayce3.00 hours\$44.84 per hour134.52Parker, Grayce3.00 hours\$56.37 per hour197.30Roe, Katie4.00 hours\$56.37 per hour197.30Rouland, Jill4.00 hours\$50.20 per hour240.80Ruholl, Renee3.00 hours\$38.44 per hour115.32Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Jaderholm, Annette	6.00 hours	\$68.11 per hour	408.66
Kim, Whitney $4.00$ hours $$68.11$ per hour $272.44$ Lanter, Lindsey $3.50$ hours $$47.40$ per hour $165.90$ Locher, Debra $4.50$ hours $$68.11$ per hour $306.50$ Marcum, Stacie $3.25$ hours $$50.78$ per hour $165.04$ Mcdaniel-Norton, Stacey $5.50$ hours $$66.17$ per hour $363.94$ Moore, Carolyn $3.00$ hours $$56.37$ per hour $169.11$ Mowen, Lindsay $6.00$ hours $$58.94$ per hour $353.64$ Naumovich, Amanda $4.00$ hours $$58.94$ per hour $235.76$ Ohl, Stephanie $3.00$ hours $$44.84$ per hour $134.52$ Parker, Grayce $3.00$ hours $$37.16$ per hour $111.48$ Reitz, Laura $3.50$ hours $$56.37$ per hour $197.30$ Roe, Katie $4.00$ hours $$50.20$ per hour $240.80$ Rouland, Jill $4.00$ hours $$38.44$ per hour $115.32$ Upchurch, Taylor $4.00$ hours $$49.97$ per hour $199.88$	Katalinich, Madeline	3.00 hours	\$37.16 per hour	111.48
Lanter, Lindsey $3.50$ hours $\$47.40$ per hour $165.90$ Locher, Debra $4.50$ hours $\$68.11$ per hour $306.50$ Marcum, Stacie $3.25$ hours $\$68.11$ per hour $306.50$ Mcdaniel-Norton, Stacey $5.50$ hours $\$66.17$ per hour $363.94$ Moore, Carolyn $3.00$ hours $\$56.37$ per hour $169.11$ Mowen, Lindsay $6.00$ hours $\$58.94$ per hour $353.64$ Naumovich, Amanda $4.00$ hours $\$58.94$ per hour $235.76$ Ohl, Stephanie $3.00$ hours $\$44.84$ per hour $134.52$ Parker, Grayce $3.00$ hours $\$46.13$ per hour $138.39$ Rehn, Megan $3.00$ hours $\$37.16$ per hour $197.30$ Roe, Katie $4.00$ hours $\$60.20$ per hour $240.80$ Rouland, Jill $4.00$ hours $\$50.20$ per hour $200.80$ Ruholl, Renee $3.00$ hours $\$38.44$ per hour $115.32$ Upchurch, Taylor $4.00$ hours $\$49.97$ per hour $199.88$	Kaufmann, Sarah	7.00 hours	\$53.81 per hour	376.67
Locher, Debra4.50 hours\$68.11 per hour306.50Marcum, Stacie3.25 hours\$50.78 per hour165.04Mcdaniel-Norton, Stacey5.50 hours\$66.17 per hour363.94Moore, Carolyn3.00 hours\$56.37 per hour169.11Mowen, Lindsay6.00 hours\$58.94 per hour353.64Naumovich, Amanda4.00 hours\$58.94 per hour235.76Ohl, Stephanie3.00 hours\$44.84 per hour134.52Parker, Grayce3.00 hours\$46.13 per hour138.39Rehn, Megan3.00 hours\$56.37 per hour111.48Reitz, Laura3.50 hours\$60.20 per hour240.80Rouland, Jill4.00 hours\$50.20 per hour200.80Ruholl, Renee3.00 hours\$38.44 per hour115.32Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Kim, Whitney	4.00 hours	\$68.11 per hour	272.44
Marcum, Stacie3.25 hours\$50.78 per hour165.04Mcdaniel-Norton, Stacey5.50 hours\$66.17 per hour363.94Moore, Carolyn3.00 hours\$56.37 per hour169.11Mowen, Lindsay6.00 hours\$58.94 per hour353.64Naumovich, Amanda4.00 hours\$58.94 per hour235.76Ohl, Stephanie3.00 hours\$44.84 per hour134.52Parker, Grayce3.00 hours\$46.13 per hour138.39Rehn, Megan3.00 hours\$37.16 per hour111.48Reitz, Laura3.50 hours\$56.37 per hour197.30Roe, Katie4.00 hours\$60.20 per hour240.80Ruholl, Renee3.00 hours\$38.44 per hour115.32Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Lanter, Lindsey	3.50 hours	\$47.40 per hour	165.90
Mcdaniel-Norton, Stacey5.50 hours\$66.17 per hour363.94Moore, Carolyn3.00 hours\$56.37 per hour169.11Mowen, Lindsay6.00 hours\$58.94 per hour353.64Naumovich, Amanda4.00 hours\$58.94 per hour235.76Ohl, Stephanie3.00 hours\$44.84 per hour134.52Parker, Grayce3.00 hours\$46.13 per hour138.39Rehn, Megan3.00 hours\$37.16 per hour111.48Reitz, Laura3.50 hours\$56.37 per hour197.30Roe, Katie4.00 hours\$60.20 per hour240.80Rouland, Jill4.00 hours\$38.44 per hour115.32Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Locher, Debra	4.50 hours	\$68.11 per hour	306.50
Moore, Carolyn3.00 hours\$56.37 per hour169.11Mowen, Lindsay6.00 hours\$58.94 per hour353.64Naumovich, Amanda4.00 hours\$58.94 per hour235.76Ohl, Stephanie3.00 hours\$44.84 per hour134.52Parker, Grayce3.00 hours\$46.13 per hour138.39Rehn, Megan3.00 hours\$37.16 per hour111.48Reitz, Laura3.50 hours\$56.37 per hour197.30Roe, Katie4.00 hours\$60.20 per hour240.80Rouland, Jill4.00 hours\$50.20 per hour200.80Ruholl, Renee3.00 hours\$38.44 per hour115.32Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Marcum, Stacie	3.25 hours	\$50.78 per hour	165.04
Mowen, Lindsay6.00 hours\$58.94 per hour353.64Naumovich, Amanda4.00 hours\$58.94 per hour235.76Ohl, Stephanie3.00 hours\$44.84 per hour134.52Parker, Grayce3.00 hours\$46.13 per hour138.39Rehn, Megan3.00 hours\$37.16 per hour111.48Reitz, Laura3.50 hours\$56.37 per hour197.30Roe, Katie4.00 hours\$60.20 per hour240.80Rouland, Jill4.00 hours\$50.20 per hour200.80Ruholl, Renee3.00 hours\$38.44 per hour115.32Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Mcdaniel-Norton, Stacey	5.50 hours	\$66.17 per hour	363.94
Naumovich, Amanda4.00 hours\$58.94 per hour235.76Ohl, Stephanie3.00 hours\$44.84 per hour134.52Parker, Grayce3.00 hours\$46.13 per hour138.39Rehn, Megan3.00 hours\$37.16 per hour111.48Reitz, Laura3.50 hours\$56.37 per hour197.30Roe, Katie4.00 hours\$60.20 per hour240.80Rouland, Jill4.00 hours\$50.20 per hour200.80Ruholl, Renee3.00 hours\$38.44 per hour115.32Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Moore, Carolyn	3.00 hours	\$56.37 per hour	169.11
Ohl, Stephanie3.00 hours\$44.84 per hour134.52Parker, Grayce3.00 hours\$46.13 per hour138.39Rehn, Megan3.00 hours\$37.16 per hour111.48Reitz, Laura3.50 hours\$56.37 per hour197.30Roe, Katie4.00 hours\$60.20 per hour240.80Rouland, Jill4.00 hours\$50.20 per hour200.80Ruholl, Renee3.00 hours\$38.44 per hour115.32Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Mowen, Lindsay	6.00 hours	\$58.94 per hour	353.64
Parker, Grayce3.00 hours\$46.13 per hour138.39Rehn, Megan3.00 hours\$37.16 per hour111.48Reitz, Laura3.50 hours\$56.37 per hour197.30Roe, Katie4.00 hours\$60.20 per hour240.80Rouland, Jill4.00 hours\$50.20 per hour200.80Ruholl, Renee3.00 hours\$38.44 per hour115.32Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Naumovich, Amanda	4.00 hours	\$58.94 per hour	235.76
Rehn, Megan3.00 hours\$37.16 per hour111.48Reitz, Laura3.50 hours\$56.37 per hour197.30Roe, Katie4.00 hours\$60.20 per hour240.80Rouland, Jill4.00 hours\$50.20 per hour200.80Ruholl, Renee3.00 hours\$38.44 per hour115.32Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Ohl, Stephanie	3.00 hours	\$44.84 per hour	134.52
Reitz, Laura3.50 hours\$56.37 per hour197.30Roe, Katie4.00 hours\$60.20 per hour240.80Rouland, Jill4.00 hours\$50.20 per hour200.80Ruholl, Renee3.00 hours\$38.44 per hour115.32Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Parker, Grayce	3.00 hours	\$46.13 per hour	138.39
Roe, Katie4.00 hours\$60.20 per hour240.80Rouland, Jill4.00 hours\$50.20 per hour200.80Ruholl, Renee3.00 hours\$38.44 per hour115.32Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Rehn, Megan	3.00 hours	\$37.16 per hour	111.48
Rouland, Jill4.00 hours\$50.20 per hour200.80Ruholl, Renee3.00 hours\$38.44 per hour115.32Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Reitz, Laura	3.50 hours	\$56.37 per hour	197.30
Ruholl, Renee   3.00 hours   \$38.44 per hour   115.32     Upchurch, Taylor   4.00 hours   \$49.97 per hour   199.88	Roe, Katie	4.00 hours	\$60.20 per hour	240.80
Upchurch, Taylor4.00 hours\$49.97 per hour199.88	Rouland, Jill	4.00 hours	\$50.20 per hour	200.80
	Ruholl, Renee	3.00 hours	\$38.44 per hour	115.32
Vice, Morgan   4.00 hours   \$37.16 per hour   148.64	Upchurch, Taylor	4.00 hours	\$49.97 per hour	199.88
	Vice, Morgan	4.00 hours	\$37.16 per hour	148.64

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES JANUARY 13, 2022, \$32.26 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$40.33 EACH: (10-2210-0000-1341-531-2)

Moore, Lori

Peterman, Sarah

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES JANUARY 18, 2022, \$32.26 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$40.33 EACH: (10-2210-0000-1341-531-2)

Nolen, Emily

Punke, Lindsay

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES JANUARY 18 THROUGH JANUARY 20, 2022, \$32.26 PER HOUR, 19 HOURS FOR A TOTAL OF \$612.94: (10-3700-0000-1243-531-2)

Lamsargis, Kathy

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START COACHING WITH INSTRUCTIONAL LEADERS JANUARY 12, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-6431-1341-481-2)

Ferry, Audra	Loken, Susan
Justison, Mildred	Servough, Carrie
Kieffer, Shelley	Watt-Brennan, Janine

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START INCLUSION LEADERSHIP PROJECT ACTIVITIES JANUARY 11, 2022, \$32.26 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$48.39 EACH: (10-2210-6431-1341-481-2)

Justison, Mildred	Servough, Carrie
Kieffer, Shelley	Watt-Brennan, Janine

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY ART PROFESSIONAL DEVELOPMENT JANUARY 8, 2022, \$32.26 PER HOUR, 5 HOURS FOR A TOTAL OF \$161.30 EACH: (10-2210-0000-1341-564-2)

> Gilmore, Lynn Marcy, Elizabeth

Minder, Kelly

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL ENGLISH PROFESSIONAL DEVELOPMENT JANUARY 24, 2022, \$32.26 PER HOUR, .5 HOURS FOR A TOTAL OF \$16.13 EACH: (10-2210-0000-1341-564-2)

> Hoffman, Julie Johnson, Nefra Martin, Colleen

Rotherham, Pam Schatz, Katie

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION YEAR ONE TEACHERS FORUM NUMBER 6 JANUARY 13, 2022, \$32.26 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$48.39 EACH: (10-2210-0000-1341-564-2)

Au, Samantha	Hartzold, Evan
Baragiola, Tori	Ingram, Cristi
Barnes, Kori	Jacobs, Victoria
Bland, Rachel	Koebler, Bailey
Boucher, Lucinda	Leopold, Jessica
Caton, Bethany	Moone, Marcus
Cleaver, Joshua	Moscardelli, Abigail
Clinton, Charles	Patterson, Grace
Correa, Kortney	Romang, Caroline
Dyer, Chelsea	Stevens, Jamie
Erickson, Carlie	Zoll, Alexandra
Frost, Karen	

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL ELA DOCUMENTARY UNIT PROFESSIONAL DEVELOPMENT JANUARY 25, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Barrett, Caitlin	1.00 hours	\$32.26
Dempsey, Tracy	1.50 hours	48.39
Eaton, Deborah	1.50 hours	48.39
Emery, Erin	1.50 hours	48.39
Finney, Riley	1.50 hours	48.39
Leopold, Jessica	1.50 hours	48.39
Thompson, Brandon	1.50 hours	48.39
Traw, Molly	1.50 hours	48.39

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR IMSA AFTER SCHOOL PROGRAM ACTIVITIES JANUARY 19, 2022, \$32.26 PER HOUR, 1.75 HOURS FOR A TOTAL OF \$56.46 EACH: (10-2210-0901-1341-000-0)

Horstman, Laura

Moore, Lindsey

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL MATH DEPARTMENT CHAIR PROFESSIONAL DEVELOPMENT JANUARY 24, 2022, \$32.26 PER HOUR, .75 HOURS FOR A TOTAL OF \$24.20 EACH: (10-2210-6493-1341-000-0)

Borah, Jill	Nicholas, Kelly
Horstman, Laura	Womble, Ashley

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HARVARD PARK GRADE LEVEL PLANNING JANUARY 10 THROUGH JANUARY 24, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Blakley, Kaylee	4.00 hours	\$129.04
Campbell, Melissa	2.00 hours	64.52
Dold, Jena	4.00 hours	129.04
Durbin, Lori	2.00 hours	64.52
Hardy, Angela	2.00 hours	64.52
Langen, Natasha	2.00 hours	64.52
Nestler, Tena	1.00 hours	32.26
Niemeyer, Cara	1.00 hours	32.26
Parkinson, Vanessa	2.00 hours	64.52
Roark, Heather	1.00 hours	32.26

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY BACKWARDS PLANNING JANUARY 12, 2022 THROUGH JANUARY 13, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Bartolomucci, Dena	3.00 hours	\$96.78
Cleaver, Joshua	1.00 hours	32.26
Eichinger, Amy	3.00 hours	96.78
Hockenyos, Karen	4.00 hours	129.04
Lueking, Mary	1.00 hours	32.26
Milnes, Karen	1.00 hours	32.26
Phillips, Suzanne	3.00 hours	96.78
Senger, Kristin	3.00 hours	96.78
Trieger, Rebecca	1.00 hours	32.26

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL MATH DEPARTMENT CHAIR PROFESSIONAL DEVELOPMENT JANUARY 24, 2022, \$32.26 PER HOUR, .5 HOURS FOR A TOTAL OF \$16.13 EACH: (10-2210-6493-1341-000-0)

Johnson, Rachel

O'Bryen, Sheila

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL MUSIC PROFESSIONAL DEVELOPMENT JANUARY 18, 2022, \$32.26 PER HOUR, 2 HOURS FOR A TOTAL OF \$64.52 EACH: (10-2210-0000-1341-564-2)

Cornell, Mark	Langellier, Dia
Gilmore, Lynn	Tiemann, Joseph

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR IMSA AFTER SCHOOL PROGRAM ACTIVITIES JANUARY 25, 2022, \$32.26 PER HOUR, 1.75 HOURS FOR A TOTAL OF \$56.46 EACH: (10-2210-0901-1341-000-0)

Horstman, Laura

Moore, Lindsey

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES SHIELD CLINIC TESTING ACTIVITIES JANUARY 10, 2022, FOR RATE SPECIFIED : (10-2130-6233-1164-000-0)

Coburn, Brina	0.50 hours	\$14.93 per hour	\$7.47
Washington, Laguina	0.75 hours	\$14.93 per hour	11.20
Washington, Laguina	1.75 hours	\$22.40 per hour	39.20

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES 2021-2022 MEDICAID BILLING ACTIVITIES DECEMBER 1 THROUGH DECEMBER 31, 2021, \$33.73 PER HOUR, 2.75 HOURS FOR A TOTAL OF \$92.76: (10-2210-6220-1165-000-0)

Harris, Hirut

XXV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR EARLY START INCLUSION LEADERSHIP PROJECT ACTIVITIES JANUARY 11, 2022, \$26.75 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$40.13 EACH: (10-2210-6431-1360-481-2)

Rockford, Jean